4, > q

ylqup2 ) yzzi(qlpz)

dt
Q1 @3
dy, _
at \Z
dy, K Pi o pi/pt Ciz 1p r
L - = = 1 2 1S 2 +_
dt K, P, 7 & Ky 7 Ky
Cs = 1+ k13
C11,C1,Cy3
(2.25) @.27)
dYy
—=F(Y
pm Y)
Y=[y; .|
f \
F(Y):{ 1(Y1 yz)}
f, (Y1 ) Y2)

fy (yy y2)= 2
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(2.23)

(2.24)

(2.25)

(2.26)

(2.27)

(2.28)

(2.29)

(2.30)



k _ C
fz(yl,yz)z _Ku P lp1/P2 1 yz_ﬁyllpz L

ki P2 P

(2.27) 1

Taylor (2.32) (2.27)

F)=F(Y" )+ AlY )(Y-Y)

%%=4Yﬂv+dvﬁ

ol

:-ﬁ&(&_q (i)™ (v) -

ki, P2\ P,

af—zz_ﬁﬂ(yi)lh/pz—l

2 oy, K, P2

B(Y' )=F(Y')-a(y' )y =[0 b,]"

_k_i i_ S\ P/ Pl o«
py = [ 1))

Cs ( 1 } Niip, T
+ B ——1lly +—
kiz \ P2 (l) Kp
(2.33)

AlY) B(y") K
(2.39)

Y,,, = @Y, +T'B,
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Y’ F(Y)
(2.33)

(2.32)

(2.33)

(2.34)

)1/ p,-1 (2 . 35)

(2.36)

(2.37)

(2.38)

(2.33)

(2.39)



Yk :[yl Y2]l Bk :[O bZ]-'E

®=[¢11 ¢12} F:|:7/11 712} (2.40)
0 P Ya Va2
r
P = AT
1 > 1 3 1 m
=I+AT+§(AT) +E(AT) +...+H(AT) (2.41)

r=(e" —1)a"

l l 1 1 m-.
=T(I +§AT+E(AT)2 +§(AT)3 +---+H(AT) 1} (2.42)

T

1 1 1
¢ll=1+§a1T2+gala2T3+§ala3T4
1 1 2 1 3
=T|1+Za,T+=a,T*+—a,a,T
& (22 6° 2424) @.43)
P =101,

¢ =1+a,T +%a3T2 Jr%3‘2‘34-1—3 +2_14(ala3 +a22a4)T4

ru=T [1+%alT2 +2—146132T3j

Y2 =T Z[EJFE%T +ia3T2]
2 6 24
(2.44)

Y= 71

Y22 =01

a,-a+a | a-a-+a (2.49)
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0 (2.39) K Y1 =0

d p.
= |gP2 2.24
V> = (a") (2.24)
b=y (2.46)
kZl k22
(2.5) (2.6)
ds dq d?q
dt2 =k21d—t2+k22T22— fl_qZ (2.47)
d 2 ! d ! !
dtclz +C1%+Coq2 =G fy (2.48)
C = Kn gt (2.49)
k22 ’ ° k22 )
(2.8) (2.48)
q fy
(2.48)  (2.3) (2.50)
d 2 ’ d ! ’
dt(lz +G % +Co(1+ Kky3)d, = Cokyp0y (2.50)
(2.50) (2.49)
¢ (rky) =K gk, = (2.51)
k22 k22
k, 1 1/Ky, ~0
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